POLYNOMIAL OPERATIONS PRACTICE

Add the following polynomials (Write answers in descending order):
72 -2)+ (5 —j—3) 121°-] 5
Ba®-4)+Ba*+a—-2) iq*+a -6
(6mS + 1) + 2m5 + 9m — 1) 8w® 4

-1
Bm®+ 1D+ OmS+3m—2) 12Mm 3?‘3 m
(=5%% —x +4) + (—3x% —5x +2) ~FF —Cx 'k
(—4x + 4 +7) + (33 =9 = 3x) #% —~Fr—~2
(Bx2 —-2x+ 1)+ (—x2+3x+1) 29 +¥+L

o O R g e B

Subtract the following polynomials (Write answers in descending order):
8 (—x%+x-4)—(3x2—-8x—2) -~4% -F¥ -%
9. (8x% —3x)— (5x—5—8x?) lbyt-Sx +S5
10, (—x% —5x —3) — (—7x2 —8x —8) 6w* +3F +5
11 (—2x3 + %) — (Tx =3 =7%%) S¥>~b¥+3
12. (3% + 3x% 4+ 9) — (523 — 7x2 + 6x — 9) -2¥> +1OX* ~bx +18
13, (5x° + 52 4 5) — (62° — 642 + 8x —5) — ¥ W ¥* 78F Flo
14, (523 + 3x2 4+ 5) — (723 — 9x2 + 8x —5) —~ 2% +%¥ —3Fk4\°

Multiply the following polynomials: 9
15. Bx%yD)(<3x2y%) ~ 2445 % 25. (4x ~3)(3x =5) 12}~ 17 >
16. (—9x3y)(-8x2y%)  #2 ¥ 9% 2. (—B)(x—7) ¥-\S¥+5 b
17.2(k53) kS5 ° 27. (6a + 1)(5a +2) 30a*+(Fa +2
18. a*(b*a®) b4 a'® PR 28. (5x +4y)(2x + 5y) [O¥ +33%9 4 o
19. 223922 +5y)  18%° #1017 29. (22 +y)(4x — 9y) By =4 Y-

20.5x3(2x +4y) 1S ¥4+ m*sfjs 4 b 30 (6r =5)(Er +1) Jo 20 =
21 5m?(3m3 + 5m2 — dm + 6) VS + R =0V, 31 (6c 4+ 7)(6c—7) 3b¢ s i

T
22, —4x2y(x* + Txy — 6y3) - 4*“3-2?;"\3: 7432.(3x +5y)7 4+ TO *& SE):

23. (x+6)(x+2) ¥+ Bf+\T 293933, (x - 2)(x2 —x +3) ¥3-3qt4h ~
24. (x - 6)(x + 9) Y& 4 3% 5% 34, (2x — 5) (522 + 4x + 7) [0y (+F~6¢-15
Divide the following polynomials:
35, 256 2y 15 [ S L\ﬁ +1.
4xe7 + ‘ Tk -
36. —— L% el 16 4p-2+3p> Bt T ~ 74
x2-3x45 2 . 3
A G AT+ . —
37. " 3 ¥ 2 47, 3m—4+2m? 2m~-F + mas
38 5x2~25242 _{ 46 = 4‘ , s a3
- kg 4 3 5 3 2 48, -_64 J iy ¥ s
39 ax10-5x%-20x% 1V 4 b =t | =% " 1°
— . -4 49, TSP 4o S & o7
40. (—x® + x5 + 7x% — 9) + x* =¥ + R+ LW . | 3y o
41, (k2 4+ 2x +6) ~x K1l + ©/x 50.(4p+3p2 =) +(p+4) 327 s

42. (3x2 — 15x + 5) + (=3x) ~& 4S5 — /3% 3 5L (20x§ = 13936 +2)+ (Gx —2) 4% -\ | %
43, (2x11 — 5x7 — 10x6) + 2x3 }3 ___g?.f SN 54 (1212\7 —6x° —3—-9x) + (3x — 3)"27 + 2yl ~2y-3
4, (~2x® + 515 -+ 937 + 2) + x* 5 L g 944153, (8x2 — 2x —3) + (2x + Dax ~3

TG 58 (—3x% 4+ 6x% — 4 —x) + (Zx + D)2y =In 4 _Z%l




